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\ P‘:’ THREE YEAR BSCS. (CBCS) DEGREE EXAMINATION, APRIL 2018

n .
SIXTH SEMESTER
Part II- Matheﬁatics
Cluster — LAPLACE TRANSFORMS
Time : 3 Hours : ) Max. Marks : 75
| | PART - A |
NS0 - D

Answer any FIVE questions.

Each question carries 5 m’arks.-
D 06 [SHEBH THTTHINE) FPALRD.,
58 538 5 Srtoyen.
(Marks : 5 x 5 marks = 25 marké)
1. Find L (ez‘ +4t> —2sin 3t + 3 coé3t).

L (eZ‘ + 413 —2sin 3 + 3 cos 3t) D050 ES0RT050.

' » [4, 0<t<1
2. Find the Laplace transform of the function F (t)= {3’ ; <1 < }
, 13, t>

F(1)= {;‘ ? ) 1t s 1} 00 (FR0AIN By, O BBHEH SR,
) > “ ’ B

3.  State and prove second shifting theorem.

B0 DK ?o%"'oe"&& (PH3D0D DETD0B0E.

4.  Find the Laplace transform of (t - 2)’ u (t-2).

L(t-2) u (- 2) 90090 Edofdodn.

5. Find L [sin 3¢ cos 2t].

L [sin 3¢ cos 2t] 900550 ER0R™5050.

6. Find L [t2 sin Zt].

L [1? sin 2] pessio ssofusos.

[P.T.O]




10.

11.

12.

State and prove first shift theorem for inverse Laplace transforms.

6% e SIS Bosed Bty DEFoTY ([F5200 DErDOBOA.

Find L ilog (P+2) )
P P+1

I B S (1; ¥ fﬂ 95 ESORS050.
+

. P
Find L' | ——
- {(P2 + a2)2

o {—P—} DD KSR SR,

(P* +a?f

Find L {——%P—}

(P2 - af

I {(Pf—P)z} e KBRS,
p2_4

PART -B
PeaSD - O

Answer any FIVE of the following questions choosing at least
ONE question from each Unit.

58 G005 008 2.8 (S SITTEE0 AR,
58 39 10 S8, 0.
(Marks : 5 x 10 marks = 50 marks)

SECTION A
UNIT - I

State and prove existence theorem for Laplace transform and define Laplace transforms.

o 5B DETOTRY (59909 DETDOBIIN 2B ©H HBSEHR D50,

Find Laplace transform of L {e" (3 sin 2t — 5 cosh 2t)} and L {e" cos Zt}.

L fe* (3 sin 2t - 5 cosh 2¢)} %805 L fe™ cos 2t} deniden ER™0i0.
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13.

14.

15.

16.

17,

18.

19.

20.

'UNIT - 11
State and prove final value theorem.

Final value theorem & ($55909 dEIDOWIDW.

sin (t ——), t> 2
Find L {F(t)} where F (t)= 3 3
' T
0, t<=
3
s1n(t——), t>£ ‘
F(t)= 3 31 wond L {F(t)} Deusio E5oR 050
0, t<Z
3
UNIT - 111

Prove that L { Sl? t} =tan™!

—Il; and hence find L {sm atJ ¢

B { = t} = tan™ % wond L [ — = } D50 KRN0,

Find L {cos 2t — cos 3t}
i
L {w} 20058 ESoRT59500.
SECTION B
UNIT -1V

State and prove change of scale property in inverse Laplace transform.

- 965" o $8:58%6° change of scale property ® (553909 dETHOBISL.

Evaluate L {————5—8——_2—}
352 +4S+8

L {-—EM} Deniy LR,
357 +45+8) |

UNIT -V
State and prove Heaviside’s expansion theorem.

rPE) DJBE AETOBBD ($HD0D DETDOBIB.

Use convolution theorem to find L™ 8 = -
: (s +2)/(s? +9)

S
(s +2)/ls?+9)

Egergie dgroso od L { } DD ELORR0H0.

(63MAT-VIII A1)



